DIVIDING DECIMALS

To divide decimals by whole humbers:

e complete as you would normally with any other division question
e the decimal point in the quotient goes directly above the decimal point in

the dividend For example: 60.524 + 4
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To divide decimals by decimals:

® change the divisor into a whole number

® whatever change is made to the divisor must also be made to the
dividend

For example: 24.56 + (.2
x10 %10

N R’
24.56 + 0.2 =245.6 + 2 0.2 x 10 = 2 (which is a whole number)
= 1228 Therefore, multiply 24.56 by 10.



